
Multiply by 0.1 (G)Find each product.
2.071 × 0.1 = 7.0778 × 0.1 =
8.2 × 0.1 = 2.2533 × 0.1 =
9.1044 × 0.1 = 0.52 × 0.1 =
8.798 × 0.1 = 2.5 × 0.1 =
5.01 × 0.1 = 9.765 × 0.1 =
5.63 × 0.1 = 2.634 × 0.1 =
0.86 × 0.1 = 7.1 × 0.1 =
2.1848 × 0.1 = 4.124 × 0.1 =
4.9 × 0.1 = 9.903 × 0.1 =
1.2359 × 0.1 = 9.4 × 0.1 =
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Multiply by 0.1 (G) AnswersFind each product.
2.071 × 0.1 = 0.2071 7.0778 × 0.1 = 0.70778
8.2 × 0.1 = 0.82 2.2533 × 0.1 = 0.22533
9.1044 × 0.1 = 0.91044 0.52 × 0.1 = 0.052
8.798 × 0.1 = 0.8798 2.5 × 0.1 = 0.25
5.01 × 0.1 = 0.501 9.765 × 0.1 = 0.9765
5.63 × 0.1 = 0.563 2.634 × 0.1 = 0.2634
0.86 × 0.1 = 0.086 7.1 × 0.1 = 0.71
2.1848 × 0.1 = 0.21848 4.124 × 0.1 = 0.4124
4.9 × 0.1 = 0.49 9.903 × 0.1 = 0.9903
1.2359 × 0.1 = 0.12359 9.4 × 0.1 = 0.94
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